
SAP ABAP table BSAD_BAK {Accounting: Secondary index for customers (cleared items)}

BSAD_BAK

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

KUNNR [CHAR (10)]

UMSKS [CHAR (1)]

UMSKZ [CHAR (1)]

AUGDT [DATS (8)]

AUGBL [CHAR (10)]

ZUONR [CHAR (18)]

GJAHR [NUMC (4)]

BELNR [CHAR (10)]

BUZEI [NUMC (3)]

UZAWE [CHAR (2)]

PSWSL [CUKY (5)]

KKBER [CHAR (4)]

CESSION_KZ [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 BSAD_BAK-KUNNR = KNA1-KUNNR 
0..N

1

KNB1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

BUKRS [CHAR (4)]

 BSAD_BAK-BUKRS = KNB1-BUKRS 0..N

1

T014

MANDT [CLNT (3)]

KKBER [CHAR (4)]

 BSAD_BAK-KKBER = T014-KKBER 
0..N

1

T042F

MANDT [CLNT (3)]

UZAWE [CHAR (2)]

 BSAD_BAK-UZAWE = T042F-UZAWE 

0..N

{0,1}

TCESSION

CLIENT [CLNT (3)]

COMPANY [CHAR (4)]

CESSION_KZ [CHAR (2)]

 BSAD_BAK-CESSION_KZ = TCESSION-CESSION_KZ 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BSAD_BAK-PSWSL = TCURC-WAERS 

0..N

0..N


